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The question paper comprises of bwo Sections, A arc! B, You are o attempt both the
sechons.

- All questions are compulsory

Al questions of Section-A and all questions of Section-B are to be attempted separately.
Question rumbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to & in Sections-A are two marks gquestions. These are 1o be answered
in about 30 words each,

Question numbers 7 tr 18 in Scction-A are three marks guestions.  These are to be
answered m about 50 words vach

Question mumbers 19 to 24 in Sectiom-A are five marks guesiions.  These are to be
answered in about 70 words each,

Question numbers 25 33 in Section-B are multiple choice questions based an practica
skilis. Fach gquestion is a one mark question. You are o select one most appropriale
respomse out of the four provided to you.

Cluestion numbers 34 %0 36 in SecHon-B are questions based on practical skills are two




&

marks guestions.

AFT-HA f SECTION-A
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Mame the bwo components of peripheral nervous system.
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Power of a lamp is 60 Y. Find the energy in joules consumed by itin 1s.
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Mention the minimum femperature difference regquived between surface water and the waler
at depths of up to 2 km in an ocean thermal energy plant.
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Metal oxides are hasic In nature, Bu!l some metal oxides show both acidic as well as basic
behavigur. What are these oxides called 7 Name one such oxdde and write its reacton with an
acid and a beese,
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(iv) T WEd T THIEE A6 O STEEE & F Y S5 e
Write name of the compound -
(i) used for softening hard water.

(1) used as an antacid.

which is a component of washing soda

(iv)  which s used as an ooadizmg agent in many cheraical industries
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What are enzymes 7 Name any one enzyme of our digestive system and wirile its [unction
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Write the chemical equation of the reaction with an exampie each in whach the foliowing changes
have taken place -

change in colour

change in temperature

formation of precipitate
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(a) Two Salutions X and Y are tested with universal indicalor. Solution X lurns
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orange whereas solution Y torns red. Which of thesabution is & stronger acid, 7

{b) State the meaning of strong acids and weak seads.
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A solution of a metal salt was kept

N & copper pob After a few days, the copper pot was

fourdt to have a number of holes on it. Explain the reason with the help of equation. Which

metal could it possibly be 7
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Define Corrosion. What i CONTOsInn

prevented 7

of iron called ? In which two ways corrosion of fron can be

1L ﬁmﬁaﬁaﬁﬁﬁﬂﬁhﬁﬁfﬂ?¢ﬂ1ml

Wrile three points of differences betiween anaerobic respiraticn and aerobic respirabion.
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State the source of secretion and fu wtion of the following hormones -

(i} Thyroxin (i) Insudin

{1z}

(i)

3i% et

Groverth hommone
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Explain any three methods used by planis o get 13d of excretony products.
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With the belp of a diagram of experimental set ap describe an activily W show thal the foro:
acting on a currant carvying conductor placed In a magnetic icld increases with micrease in

firld strength.
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Whal is meant by solenoid 7 How does a current carrving solenoid behave ? Give s main
use,
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Find the values of Iy, |5 and [ in the foliowing cirouit
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Mr. Chopra forms an NGO and he approaches municipal corpotation of a city. He pots a
proposal to the corporation that his NGO would collect the waste material and garbage of the
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cily at a particular ares and promises them to suppiy electricity for
corporation has to pay them a nominal amonnt. The corporaton it proposal

{a) Explain the vaioe exhibited by Mr. Choprz.

(b) Explain two advantages that occuzed to the city by accepting hMr. Chopra's proposal

U o I ¥ =S A Tad o Tafen |

Wirits any three characterislios of a good fuel.
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(1} |sEAgamman

P E sy — AL Zn, Na, Fe, Mn, Pb
3) RS | Heaa
I - b — —

(b) WP e ey TaTae F Saney wied faued Sh |

EY) Methods used for extraction of metals are given in column I Name the method gsed
for extraction of melais given in column I,

 Column -1 o Columm - 11

(1) | Reducfion wilh carhon

{2} Electrolytic redacton & Al Zry I"-_T_a.._Fllz.. Mmn, Fb

(3 | Reduction with alumirgum |

m— e Hae o S

{b) Differentiate between Toasting and calcination processes grving one example of each,

L
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(B) TR IR T W v & UrEd % S w et sty o wew e

{a) Differertiate between the following by giving sosfable examples :
(1) Displacement reaction and douhle displacement reactromn.

(i) Frothermuc pepchion and endothermic reasciion

]} State the type of chemical reaction that takes place dunng the digestion of food In our
body.

21 (at w2 En F gy ain Fafag v afs @ 9 s g
(b} U UEY & THGUE T W WA W 91 0% (adiad wd WOE & {o4 & #6
HEARI T TE weg ey S ol of F weeR w9 rE
iame one organ cach wherne growth hormone s synthesised in man and plant.
List the sequence of events that oocur when a plani is exposed to enidirectional light,
ading to bending of a growing snoot  Also name the hormone and the type of movement.
22 {a) Touli v g v o1 9 w09 O T witag) A g SR A T T 5E & al
whrada i w0t &7
(b)  15KW T B Tamn ugl f wier uitmy (220 V) F, s fla ageaiE 5 A § 9EE
R | e TR e e afios o e e €2 & it
{2}  Draw magnetic feld lines of a bar magnet. “Two magnebe Beld lines never intersect
each other”. Why ?
(b}  An electric oven of 1.5 kW is operated in a domestic circuit (220 V) that has a current
rating of 5 A. What result do you expect in this case 7 Explas.
23 g i g9 Cm ot 7 Bl yrEn viaieen & g s 2 i iE wifvni e g e
= 9 weem © gie Y YeR S W T v o @ wia F 951 & we  F qoenf
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What is meant by the lorm magnetic field 7 Draw the pattern of magnetic field lines dee o a
current carrying solenodd. How can the strength of this magnetic ficld be increased 7 Explain.
List two propertics of magnetic [uld lines,
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With the help of a circuit diagram prove that when a number of resistors are connected in
paraflel the reciprocal of the equivalent resistance of the combination is equal to the sum of
ihe reciprocals of the iIndividua! resistances of the resistars.

Find the resistance between A and B in the following network

A8/ SECTION-B

25 i o AREET S A Y e e iR e wmE | g e 1
(a) HERZ HEg ) e s
)  BRge (d) EmEiles s
All acids give the ion in solution, which imparls an acddixc characier. The ion
b -~
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{a) sulphate i0n {=}} carbonate mom

{c) hydrogen jon {d) hydroxylion

0E B w pH IR 7 §1 pH TR e AT 1
@@ ulE B = {c) (y A

A solution having pH 7 shows the colour with pH paper whichis:

{a) Yellow {b) Csresm (<) Blue {d} Tange

s USSR N e s T e R e TR d e e i AR s T e 1
R W A SE v &l gl

(a) Fedl b) InF & AL® &Y CuH

The solution of copper suiphate fades and finally becomes light green om dipping a rod made
upol:

{a) Fe {b} in {c) Al (dy Cu

sifen & dnfolee 6 o S wethe & faon & o) 305 pW e & in 9 A fE 1
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{a} TERIEERED
() IR
{c) FTEERHBIHE
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Sophia added aluminium pieces in ferrons sulphate solution, she pbserved change of colour of
solution from -

{a) Colourless to pale green.
{(b)  Tale green to coloarless.
{c) Pale green to dark green.

(e} Colourless bo dark green.

RS T A, B O D it e e R W e e i e e R e § w1
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Four plates labelled as A, B. Cand D alomg with thesr corresponding colours are given below,
Which of these would represent the copper metal ?
A B C

[
L I B s Aok =
Grey Blackish Reddish Silvery
By browmn witite
(a} A ® B @i € @ B
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{dy =9 wewl ¥ o wEe
A cell, a resistor, an ammeter and a key are arran ged in the circoit diagram as shown
below. The current recorded in the ammeter will be maxirmum in -

Iy AN i i | |= I-'_:
,L 1 @ |—f.—{ = | | 1 !
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{A) (B ()
fa) A
®) B
{c) C

(d)  Same in all the cases

31 HRwEr A, B, O DT A & g dden w oen w0y 9 8 & B vy ahw 1
T R T
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Four students A, B, C, D made the circuit diagram for finding equivalent resistance of
a parallel combination of resistance as follows :

= Wy Hyrm, =i
il edine e i,
= ! i " 5 e il ; il | L% ) ; =
| R 1 : T | — | SR PP
E w Al &
e e ] et ——— --J,I g =t e S
A (] Lay] {
The student who has made correct crouit is
fa) A by B 1 d) D
32 Fors, 2 F oot T oRT WH o & T 9ET @ e e
Blue &
iu*:*.:ru: =t
Elpe black
Fig.2
(a) F B W by TEEEWET
(¢} BAI ERE R () S s aEE e
To get resull as shown in Fig.2, the leaf shoold be covered on .
White
rs
Bloe Wlack
Tl Bt
e L 1
Blue black
Fig1 Fig 2
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{a) Upper side (b} Lower side
(€} Bothsides (dy  Partially covered on both sides

3 TR & A S COF e vl e s S e e A e S a1
#| 3z 3 mrmm w0 F sot sme w0 -

(a)  HlET T KMo, fafas o= B

(b} FET SEEETEE I AT S R R
(€) == % Tod sl aaeily =8 &

(d) B w9 gpEnd &

Aayush found that in the given set up, the leve! of water s not rizing mn the given experiment
of CO; released during respiration. Help him to identify the error -

e
[l
K-~ = .
4 Water

(a)  The beaker has coloured water mived with KMnO;
b} Carbon diexide is not being sbsorbed

(=) Mo oxygen is available lor respiration
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{d})  The set upisair tipht
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Study the following experimental sel up and state the change likely to be abserved afler some
Lme. Justfy the cliange giving reason.
,'fll/__ Iron nail
e Ay
- Copper sulphale solution
EL Tauen-ar (V) R @ (1) = Polm = 9wms &0 & oo fad om & afem = =9 § 901 Ty
i fam el % WaR W oEed V- s wiw Fea o g e 8 e o o e @) W
e o e i w T £ 7
To study the dependence of current (1) on the potential difference (V) a student recorded hus
cbservation in bular form. Based on the observations he obtained s V-! graph which was a
straight line passing through the origin. What does this smaight line indicate ?
I FheftmEaTdond it lntdESasmie s 2
Sme, where o Stemals  aae sdmu.,j Lecotid - fre Mﬁj tathetan. Shychane:
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State where are stomata ideally located, Are they cellular structures ?
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